[ Efficiency vs vertpos |

-
>

[
>

o

=

Ratio

Efficiend

N
—
o
()
[
>
o
e

e
=
)

Ratio

20.09
20.08
(8]

$0.07
£0.06

$0.09

£0.07 :
2 0.06f - .}
0.05--
0.04fH

0.4

0.05]
0.04
0.03
0.02
0.0

..............................................

..............................................

"

..............................................

............................................

1.0

0.95

-+

1072

10 1 10 0?
TP vertr (cr%)

—=— DQM_CKF_QCDHighPt_base
—— DQM_CKF_QCDHighPt_retrainOldFiles125_v2_prelimWPM_epoch2

0.1

0.08f-{-¢-:
>

0.03
0.02
0.0

Vel

....................................

+

-20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N

> C
50.018F
5 016F
9.014F -
>

9.012
)

2 0.01

=
[0

0.008
0.006
0.004
0.002

Ratio

0.02

..............................................

1.0

o

50 5 10 520
Sim. PV z (cm)




	Contents
	Page 1


